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BEXR U—11

488H (1) —ERFRE
U—11(E) U—11(E)
HERB W ECPFET TR WHESPFET IR
RELF (FaD  RHE  FHR RE £ ¥ |(FEn  WE  FR  EE = #
1 09:00~ Y vs B3R |[ERFRE| &= vs ABHE ==
2 09:50~ | 1=£2(0) vs EBFHE| Rl —/% vs —E L% (0)
3 10:40~ Y vs gkl t=£2(0) & vs x| —/8
4 11:30~ | f=£E2(0) vs LS YR ABE vs —/8 &
5 12:20~ ARl vs EEFHE| &I, —E vs LR (0) | ABHR
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
4A8HA(L) —ERFRE
U—11(F) U—11(F)
HERS TH:NTFURB) THENTSUR(C)
2GLE (FF) NSP (%) NSP =z 3 |(FEnD =2 @ &#® =2 = ¥
1 09:00~ | IRN vs ¥ H 12ED(M | FADS vs HHEEEK) | FEZF
2 09:50~ NSP vs zED(T) ¥EH FEE vs =2 Ja—4
3 10:40~ | IARR vs H&FC | RRTIL | TO—H vs ¥ | FADS
4 11:30~ | /SRTFIL vs 1zED(M | TRKR FADS vs =2 | FHERK)
5 12:20~ | ¥'A—4% vs HEFC NSP FEiE vs LR (K) =8
6 13:10~ | /SRTIL vs NSP HEBFC vs
7 14:00~ vs vs
8 14:50~ vs vs
OAOH(O)
u—11(0) u—11(0)
HERG
RELEF |(F8D (F#) g ¥ ((FED (F#) = H
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
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BExRX U—11

4A158 (%) -
U—11(E) U—11(E)
HERIS ZEZILYYH—15(A) ZEZILYYh—15(B)
RELF (FRD =ED(0) (FH) f£2(0)| #TE #|(F#D (F#&) #|HE = #
1 09:00~ Y vs & t=£2(0) vs
2 09:50~ | 1=£2(0) vs ABE Y vs
3 10:40~ vs vs
4 11:30~ YR vs ABE & vs
5 12:20~ | 1=£2(0) vs & AEHE | LBWHE vs L% (0) =]
6 13:10~ vs —/8 vs =] A EBYEF
7 14:00~ vs —/% vs NEHEE | HLEE(O)
8 14:50~ vs L% (0) vs = —/8
48158(%)
U—11(F) u—11(0)
HERS EFIWH#T IR (A)
RIFUE |(FAD IRAR  FHR) IRR g ¥ ((FED (F#&) = ¥
1 .09:00~ | ¥B—% vs FHE | HERK) vs
2 09:50~ | IARR vs HHEEEK) | FEZ vs
3 10:40~ vs vs
4 11:30~ | yn—4 vs BHEK | AR vs
512:20~ | IRK vs F&E | Jo—Y vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
OAOH(O)
U—11(0) u-1100)
HERG
RIGHE [(FaD (F#&) g ¥ ((FED (F#&) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
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48228 (L)
U—11(E) U—11(E)
HERIS FWH#T IR (A)
RIFUE [(FaD LCE GFHR LR £ ¥ ((FED (F#) = ¥
1 .09:00~ | AEHE vs 1ZE ABE vs
2 09:50~ BRIl vs ABE —E vs
3 10:40~ vs vs
4 11:30~ | HLEHE vs ABE BRIl vs
5 12:20~ BRIl vs == A BRI vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
4822H(%)
U—11(F) Uu—11(0)
HERS EILHT U8 (B)
RELEF (FaD  HEH  FHR  #A £ ¥ ((FED (F#) = ¥
1 09:00~ ¥ | vs NSP INATIL vs
2 09:50~ | HAEFC vs ISZTIL NSP vs
3 10:40~ vs vs
4 11:30~ ¥EH vs NATIL | AEBFC vs
5 12:20~ | AEFC vs NSP ¥ H vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
OAOH(O)
U—11(0) u-1100)
HERG
RIGHE [(FaD (F#&) g ¥ ((FED (F#) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
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BEx U—11
568 (L) —ERFRE
U—11(E) U—11(E)
HERB FEIWHT IR (A) FILHT U8 (B)
RHEHEF |(FED ABWE (F®R hA@&EE | & ¥ (FiD —/& 0 &FKR —/5 = #
1 .09:00~ | AEHE vs EBFRI| fzE200) | —/B vs BRLl =
2 09:50~ | 1z£2(0) vs HLER(O) | ABHE e vs —E &
3 10:40~ |EEFHED vs ABEE | HLELE(O) & vs BRIl —E
4 11:30~ | 1z£€2(0) vs AEWE |EEFRE| —/8 vs BLt%&(0) gRil
5 12:20~ | ABEE vs 7] A BRI & vs ZE —/8
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
5A6H(L) —ERFRE
U—11(F) U—11(F)
HERS EFIL#T IR (C) LT 5K (D)
RELF (FaD J0—Y (FHR SRTFL E ¥ ((FED ABFC (&) A&FC = ¥
1 .09:00~ | EALER (K) vs NSP Jo—4 ¥H vs FEE | £
2 09:50~ | IR vs Jo—4% | BEREK) [ HLE&FC vs zED(T) =8
3 10:40~ | /XTI vs BLER(K) | FADS == vs NSP FEiE
4 11:30~ | IRK vs FADS NSP ¥ | vs =ED(T) | HEFC
5 12:20~ | /SATIL vs =8 IRR HE&FC vs FEiE ¥ |
6 13:10~ | yA—4 vs FADS | NARTIL vs
7 14:00~ vs vs
8 14:50~ vs vs
OAOH(O)
u—11(0) u—11(0)
HERG
RELEF |(F8D (F#) g ¥ ((FED (F#) = H
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
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5A13H (1)
U—11(E) U—11(6)
HERB WHESPFET IR
RELF (FaD RHE  FHR RHE £ ¥ ((FED (F#) = H
1 09:00~ e vs HLLE(0) | AEHE vs
2 09:50~ | fLEE vs e YR vs
3 10:40~ | EBEFED vs L% (0) =] vs
4 11:30~ | ALY vs gRil BLt%&(0) vs
5 12:20~ | 1=£2(0) vs —/8 |ZBEFEREP vs
6 13:10~ BRIl vs =] t=£2(0) vs
7 14:00~ | —/& vs EWFWER| BRI vs
8 14:50~ Y vs ;€20 | —/% vs
5A138(1) — T [ ey
U—11(F) U—11(F)
HERS FIWHT IR (A) EILHTFUR(B)
RGLE (FED FERK FR BHHEERK | B #H (FaD FADS FR) FAOS = #
1 09:00~ | ¥'B—% vs =8 REDM | FEE vs NSP FADS
2 09:50~ | EALEE (K) vs EDM | Fa—4 | FADS vs ISZTIL ¥ H
3 10:40~ ¥ H vs =2 LR (K) vs
4 11:30~ | yBo—4 vs zED(T) =8 FEE vs INRTIL NSP
5 12:20~ ¥ H vs BHREREK) | F22 FADS vs NSP ISZTIL
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
OAOH(O)
U—11(0) u-1100)
HERG
RIGHE [(FaD (F#) g ¥ ((FED (F#) = H
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
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58208 (1)
U—11(E) U—11(6)
HERB WHESPFET IR
RELF (FaD  #m 0 (FHR & £ ¥ ((FED (F#) = H
1 09:00~ & vs e —/% vs
2 09:50~ Y vs —/8 e vs
3 10:40~ |EEFHED vs & Y vs
4 11:30~| —/%& vs #m | EEFER vs
5 12:20~ Y vs EBFRE| &R vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
OAOH(O)
U—11(0) u-1100
HERG
RIGHE [(FaD (F#) g ¥ ((FED (F#) = H
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
OAOH(O)
U—11(0) u-1100)
HERG
RIGHE [(FaD (F#) g ¥ ((FED (F#) = H
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
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BExRX U—11

58278 (1)
U—11(E) U—11(E)
HERIS FWH#T IR (A)
KELEF (FaD R FH fRil £ ¥ ((FED (F#&) = ¥
1 .09:00~ | =2 (0) vs BRIl ABE vs
2 09:50~ | ALEBIRK vs BLL&E(0) | f=£ED2(0) vs
3 10:40~ | 1z£2(0) vs —E L% (0) vs
4 11:30~ gRil vs L% (0) —E vs
5 12:20~ —E vs ABE gRLl vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
5827H(L)
U—11(F) Uu—11(0)
HERS EILHT U8 (B)
KHHE |(FD =ED FER)  =ED EE I (G - 1)) (F1%) g H
1 09:00~ [ HMEFC vs FADD =2 vs
2 09:50~ | IARR vs =2 f=ED(T) vs
3 10:40~ | FAMDS vs =ED(M | AR vs
4 11:30~ | AEBFC vs =2 FADS vs
512:20~ | ZIAR vs =ED(T) | HE&FC vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
OAOH(O)
U—11(0) u-1100)
HERG
RIGHE [(FaD (F#&) g ¥ ((FED (F#&) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
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6HA38 (L)
U—11(E) U—11()
HERB WHESPFET IR
RELF (FaD  RHE  FHR R £ ¥ ((FED (F#) = H
1 09:00~ YR vs AEBEF & vs
2 09:50~ & vs EBTFTRA| ABWE vs
3 10:40~ YR vs CE |EEFEH vs
4 11:30~ & vs A BRI —E vs
5 12:20~ | EBEFEE vs == YR vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
6A3B8(L) —ERFRE
U—11(F) U—11(F)
HaR5 TFNIT SR (D) TFJNTSUR(E)
RELEF (FaD FEE FHR FEF £ ¥ |FED NRATIL FH) Jo—4 = H
1 09:00~ =2 vs B (K) | =E2(M) | TAR vs NSP INRT I
2 09:50~ | F%iE vs =ED(T) =2 Jo—4% vs INATIL NSP
3 10:40~ | HAEFC vs HHEEK) | FBE ¥H vs FADS TIRAR
4 11:30~ =2 vs fzED | BERK | ITAR vs ATV | FADS
5 12:20~ | F%i# vs zED(M | A&FC | Yo—¥ vs NSP ¥ H
6 13:10~ vs ¥ | vs HEFC | Fo—4
7 14:00~ vs vs
8 14:50~ vs vs
OAOH(O)
U—11(0) u-1100)
HERG
RIGHE [(FaD (F#) g ¥ ((FED (F#) = H
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
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